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QUESTION 1

Which Informix edition, at a minimum, would permit a Global company to deploy multiple database backup sites for
protection against man-made or natural disasters? They want to include oneshared disk secondary, as well as one
Remote Secondary Server in their plan. 

A. Informix Ultimate-C Edition 

B. Informix Growth Edition 

C. Informix Ultimate Edition 

D. Informix Innovator-C Edition 

Correct Answer: B 

 

QUESTION 2

Which of the following is a key benefit of Informix? 

A. Database extensions can be added to supportnew business problem domains. 

B. Chunks can be two gigabytes in size. 

C. Uptime of at most 80% can be achieved using continuous availability features. 

D. Databases can be administered by a local database administrator. 

Correct Answer: A 

 

QUESTION 3

The physical log is usedto do what? 

A. Alert the DBA when the system needs maintenance or tuning. 

B. Store a copy of a page from the shared-memory buffer pool before it is modified for the first time. 

C. Record error information when a severe error is encountered. 

D. Store information about the status of used and free space in a dbspace. 

Correct Answer: B 

 

QUESTION 4

Which Informix utility can be used to create a snapshot of an instance, including the data? 

A. dbaccess 



B. onspaces 

C. onbar 

D. ifxdeploy 

Correct Answer: D 

 

QUESTION 5

Which of the following statements aboutFlexible Grid technology is TRUE? 

A. It requires high speed interconnect technology between nodes. 

B. It works only in a shared disk environment. 

C. It requires additional technology for disaster recovery. 

D. Both DDL and DML can be performed dynamicallyon all grid nodes from a single server. 

Correct Answer: D 

 

QUESTION 6

What is an advantage of using Multi-Index scan? 

A. Multiprocessor support 

B. Multiple disk drive support 

C. Index keys are stored in compressed format 

D. Less indexes need to be defined on a table 

Correct Answer: D 

 

QUESTION 7

What size of business does Informix target? 

A. Medium-sized businesses only 

B. Small, medium, and large businesses 

C. Small businesses only 

D. Small businesses with a team of database administrators 

Correct Answer: B 

 



QUESTION 8

Why does a database execute a checkpoint operation? 

A. To ensure that runaway queries are stopped before consuming all the system resources. 

B. To synchronize the pages in a primary dbspace with a mirrored dbspace. 

C. To update statistics for large tables currently being accessed by queries. 

D. To synchronize the pages on disk with the pages in the shared-memory buffers. 

Correct Answer: D 

 

QUESTION 9

Which Informix utility is useful in debugging failedtransactions, the time period of a transaction, and changes that are
made to a tablespace? 

A. onlog 

B. onload 

C. onbar 

D. onunload 

Correct Answer: A 

 

QUESTION 10

Which of the following is a valid VP class? 

A. PDQ 

B. AIO 

C. MACH11 

D. OBJ 

Correct Answer: B 

 

QUESTION 11

TheXYZ Company\\'s failover recovery strategy requires a backup site; however, they do not have a constant or
uninterrupted communication link to that site. What type of high availability configuration should be used? 

A. Two Shared Disk Secondary (SDS) servers with hardware disk mirroring 

B. A High Availability Data Replication (HDR) secondary server running in SYNC mode 



C. Continuous Log Restore (CLR) with backup and recovery 

D. Enterprise Replication (ER) 

Correct Answer: C 

 

QUESTION 12

What is the smallest unit ofphysical I/O in an Informix server? 

A. Chunk 

B. Extent 

C. Page 

D. Dbspace 

Correct Answer: C 
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